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Vl Semester B.Com. Examination, July/August 2024
(NEP Scheme)
COMMERCE

COM 6.3 : Management Accounting

Time : 2/z Hours Max. Marks : 60

lnstruction : Answer should be written completely in English or in
Kannada.

SECTION _ A

Answer any 6 sub-questions. Each sub-question carries 2 marks. (6x2=12)

1. a) Define Management Accounting.
b) Give the meaning of comparative statement.
c) How do you calculate "Stock turnover ralio" ?

d) State the meaning of cash-flow statement.
e) Name the parties who are interested in the financial statement analysis.
f) Give the meaning of the ratio analysis.
g) What is meant by Management Audit ?
h) Given : Current ratio 2.5, working capital is t 60,000. Calculate the amount

of Current Assets and Liabilities.

SECTION - B

Answer any 3 questions. Each question carries 4 marks. (3x4=12)

2. Statb any 4 differences between Financial Accounting and Management
Accounting. *,

3. From the following data calculate the expense ratio and segment ratios viz,
administration expenses ratio and nlarketing expenses ratio.

Particulars
Sales
Sales returns
Administrative expenses
lnterest on loan

Marketing expenses

t
4,50,b00

50,000
60,000
20,000

40,000

P.T.O.
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4. From the following

Particulars

-2- Illililllililflililt]ilt]ililt

balances calculate cash from operations as on 31 December.

2023
t

57,000
22,500
35,000

7,000

800
2,200

850
350

95,000

5. From the following information prepare a Comparative lncome Statement,

Particulars

Bills receivables
Debtors

Bills payable

Creditors
Prepaid expenses
Ois expenses
Accrued !ncome
lncome received in advance
Profit made during the year

1) Working capital

2) Reserves and surplus

3) Bank overdraft

'4) Current ratio

5) Proprietory ratio

6) Liquid ratio

2422
t

60,000
20,000

30,000
9,000

900
2,000

700
900

2022
t

Sales 6,00,000
Cost of Goods sold 2,40,000
Administrative and selling expenses 1,00,000
Other lncomes 65,000
lncome tax 38,000

6. Write the scope of Management Audit.

2023
{

7,50,000
2,90,000
1,30,000

73,000
47,000

SECTION _ C

Answer any 3 of thafollowing questions. Each question carries 12 marks. (3x12=36)

7. From the following information prepare a summarized balance sheet as on
31st March 2023. i

{
1"20,000

80,000

20,000

t:,2.50

0.75

1.50
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8. Following are the balance sheets of Vidhathri Co. Ltd. as on 31 -03-2O22 and
31-03-2023.

Liabilities 31-03-2022 31-03-2023 Assets 31-03-2022 31-03-2023
tt{t

Share capital 1,40,000 1,80,000 Land and Building 1,24,000 1,38,000

Reserves 12,000 18,OOO Furniture 8,OOO 12,000

Debentures 20,000 22,000 Stock 36,000 39,180

Bills payable 10,000 4,000 Debtors 30,000 36,000

Creditors 20,800 8,1 80 Goodwill 4,000 6,000

Cash 800 1,000

2,02,800 2,32,180 2,02,800 2,32,180

You are required to prepare Common size balance sheet and comment on its
financial position.

9. The following are the summarized balance sheets of Unnati Ltd.

Liabilities 91-03-2022 31-03-2023 Assets g1-03-2022 31-03-2023

Share capital 2,OO,OOO 2,5O,OOO Land and Building 2,OO,OOO 1,9O,OOO

General reserve Sb,OOO 60,000 Plant and Machinery 1,5O,OOO 1,69,000

Profit and Loss 3O,5OO 3O,6QO Stock 1,OO,0OO 74,OOO

Secured loans 70,000 Debtors 80,000 64,200

Creditors 1,50,000 1,35,200 Cash 5OO 600

Provision for Bank 8,000

taxation 30,000 35,000 Goodwill 5p00

5,30,500 5,10,800 5,30,500 5,10,800
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Additional lnformation :

1) Dividend of t 23,000 was paid during the year.
2) Assets of Dhriti Ltd. were purchased for a consideration of t 5O,OO0 payable in

shares. The assets purchased were Stock t 20,000 and Machinery t 25,000.
3) Further Machinery was purchased for { B,0OO.

4) Depreciation written off on Machinery < 12,000.
5) lncome tax paid during the year was { 99,000.
6) Loss on sale of Machinery T 200 was written off to General reserve.

You are required to prepare the cash-flow statement as per !nd.AS-g7.

10. tsriefly explain the features and advantages of Corporate Governance report.

1 1. Following is the Balance sheet of ABC Ltd. as on 31 March 2022.

Liabilities Amount (t) Assets Amount (t)

Equity share capital 5,00,000 Land and Building g,o0,oo0

8% Preference share capital 4,oo,ooo Plant and Machinery g,00,000

Reserve and surplus 4,00,000 Closing stock S,OO,OOO

9% Debentures 6,00,000 Debtors 2,OO,O0O

90,000Current liabilities 4,00,000 Bank

Prepaid expenses 10,000

23,00,000 23,00,000

Additionat lnformltion :

Sales during the year { 8,00,000, Cost of goods sold t 6,00,000, Administrative
expenses T 1,12,000, Commission'and discount earned { 12,OOO, Loss on sale
of Machinery t 34,OOO, Profit on sale of building t 54,000. You are required to
calculate :

a) Current ratio

c) Stock turnover ratio

e) Operating cost ratio

g) Debt-Equity ratio

i) Proprietory ratio.

b) Liquid ratio

d) Gross profit ratio

f) Net profit ratio

h) Solvency ratio
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aqrdil - o
otn$aaddro 6 erud-{,dorl9ri e,rldOfr. dg wd-{,dorl9ri 2 erodriq;b. (6x2=12)

1. a) &drde6a dptdq aar&Drexr.

b) d:e,:oadsd dodo$ er6rd&o eea.

c) aaxad: sddrC dd ded doC:bGci>OO ?

d) ddd; z3oan ilti acu:dd uQr 3ei:,.

e) dmrax,d a5^.t*-? il83$o^ si8 e.e 3L6J5 rto{d#5: axoi,.

f) ed:md cd_ed#o3: ufirddi &ee.

g) eCrdeaa dduiodoed;i ccdded: ?

h) mq qi,Crora 2.5, adraao *"oC;o* t 60,000 qc"-d eaO s:rrl$; d:d.: me)

edJ?JJ orlsd: dcdbaoS,Jo.on

aqDir - z)

oXnd;caddro 3 d,d.,(d9ri enrdOt . 4e q,d derl 4 ercdrl$;. (3x4=12)

t
4,50,000

50,000

60,000

20,000

40,000

2. &drdma eidpg d:$ dearoip d{Ag ddrad 4 draoridd} eexr.

3. d$dod dDego$$o upo,t d?*,19 etd:md ild: Dgrorld erd:aaddd:o e3doaat.

adddrl$c

dncnt^l

d>oougd sJ6"otr)

sd9d dzSrl$c
,1

xoe;d d;ee)d uG
G

dndreionr dqrlslr
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4. 31 Gdoz^.rdd dDeecjtr$sod dddd)

^JJJJ.J.c,JilOFnHJ

^.1^9^-* J\^AtJ'i\'t-()utUoG) Oc.rUUsl IVJ

uJ:tdd#.:
: ^a^t--a J\^-J.J\
SJdC96JtUs CJ Oclruugl lvJ

-rJ -?alr(^)t cr( IVJ
:^-_ _J q

dr:J r :^jsc^Je daJ.fl$:
^-! +#ri J^JJ^J^zJa6 qoJD ,.q/\iiJ
?ae 94 cpmair
^.rvc"Ji, !r\rUtv.J

!{:9, -.r44 c:-ri-
JJ,IJU*;(,c"Jcrl I wl^?w \Jwu!,\,\J

<-t-1r\ 2<,.o o, a a^^1,iiir tJU-l\Y4LJ irc)oJ

ililffiillllilffillilllilllll

5. dSEod dDbeCr erd)Fad d:e-:oadrd qrdro$ da{od,q dCDoA'

^JJ-J-i"1.c^JcJ()fOI IV!,

rJ ^?--Jafrc^JO, i,4.Ii{ )V'.r

id)oJ)6"- iddrilq 5zl
. -.1-r.1 i\-/\ -<-:l: *nJirlr5(;9Yi, c^).ri1- c^)Jeuc.:t j\r(,.:J lrrJ

^^)r ^"-i-.J,t3Q (JcJdU\,\.]

^ .- ^t- -?q.?(JgJe( ,tJ (,Ul I

cdrdma eidFodroeddo$ EsDr* crq ?rdo9:o.

+,

oSndoaddJo 3 €,d4d9ri e,rJdotu. d,e -'q}d47r97i 12 codil$. (3x12=36)

7. drar,3pJd dDbeo$d1 uqaoa 31-03-2023 d c6"d dgEo$dtr dotao&.

1) od^mb uo6ffi+t!

2) tueio: ilq dd)srdo

3) mr.d Lddemr+1

4) -i9\3 edrmd

5) eii ed:and

6) 6d ed:md

ddoed aQadood dcd:bGc3:0.

2022 2023
{T

60,000 57,000

20,000 22,500

30,000 35,000

9,000 7,000

900 800

2,000 2,200

700 850

900 350
95,000

2022
t

6,00,000

2,30,000

1,00,000

65,000

38,000

2023

7,50,000

2,80,000

1,30,000

73,000

47,000

1,20,000
80,000
20,000

2.50

0.75

1.50



I Irilililtffi lil ililtllilt ilillil
NP - 345

8' aaDg do. o. qe@d dgd aoaod 3l -og-2022 dreb 91-og-2023 do dndriood
€* f$fldo8d. 3

raaeoOd$c 91-09-2022 g1_09-202g ei:rilgr 31-03-2022 31-03-2023

-7-

TT
1,24,000 1,39,000

9,000 12,000

36,CCO 3g,1go
-

30,000 36,000

4,000 6,000

goo 1,OOO

2,02,90a 232,190 2,02,900 2,32,190
racnd, nDgd cFd cq,"$q do$Eo& ab6 dearoxrd io&go$di ep&/&do,x.

I *qs O. d epad dgd 6* dSAdoEd.

eiaoeoozlgc 31-03-2022 31_03-2023 es:Jd$b

{t
{ecb uodars 1,40,000 1,SO,0OO q1.latu d.>dJ dqd
^-,toircrr."*r(^Jsu 12,000 19,000 eedoeiddea

mod$ri$; 2O,0OO 22,OOO med.>
dedzJeuad dooG 1O,O0O 4,000 aJ:rdrl$c

yit:ne-r 20,800 8,1 B0 Im"t:: (*egrdPou 
)

+r?r-.JI ICJi

:.f,o*r a ra_)_^rra{\\-\J (,\lwcrd?

x;aatnd^ *):eBq:
o

eDqJ c:q d{a:ad
n 6 \r?6.1\.v9\-/l lv!,

fdrl$c

dori a:eisa8

2,50,000 qiaer abe de16

60,000 :o*dd db$ o3:og

30,600i *eo
abrdri$c

1,35,200 ddd)

35,000 uorof

EeBr dPe-r.
d

31-03-2022 31-03.2023

.tt
2,00,000 '1,9O,OOO

1,50,000 1,69,000

1,00,000 74,OOO

90,000 ,M,aoo

s00 600

8'000

5,000

5,30,500 5,1Org0o

t
2,00,000

*
50,000

30,500

70,000

1,50,000

30,000

5,30,500 5,10,900
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da$?rdO iln8o8 :

1) d,.urd0_ < 23,000 enqrooddq undEBenhd.

2) ddg O. {$rl9d1 ded.>rl$O- mdsia3euod T 5O,0OO dorlsadri $oeoBenfld.
$oe0tud {6rl$: eioxnd; { 20,000 drq obodgedddearle$ t 25,000.

3) il$q d>odgedddearfsdl T 8,000 Eo a)oeoBennd.

4) o$o$ri$ abeeJ t 12,000 BddqoJ:dl udoJcmnd.

5) { 33,000 ddrdO_and8td er6o$ dori.

6) o$odgedddead dnoae"ldO_T 200 d*dq &:eieroE udo$ennd.

ddd) do.)d deedod:d1dclDo8) Ind.AS-o7 daad.

10. ua{prdeof erded ddao$ {g*rds il& erd>doe,:rtgdlnoEddrR Adox,.

11. 31 dnztrr 2022d ABC O. d erFad dgE bend.

u-.E qJa.l.
G)cJciqJcr lJI IYJo dJag (t) qr&dsc dJag (T)

xadnd, ded: atodaro$ 5,00,000 6rotu drd? d%d 9,O0,OOO

8% sdrd de& uodao$ 4,00,000 sa*dd d:dl o$odgedddeo 8,0O,0OO

A)eieD c:Q dz$*dO 4,00,000 eo8d: ctE&dJ 3,00,000

9% xasdgd$) 6,00,000 a$$ris,J 2,OO,OOO

zdd aasczrooorlS: 4,00,000 zIJro6" 9O,OOO

dBdr aad8 daf 10,000

23,OO,OOO 23,00,000

da$zjdO dnb.g ! *

g3drdO_ < 8,00,000 dncne,siland. agdaad idd:rl$ aJeJ t 6,00,000, qrdgd d#*t,
{ 1,12,000, dtudtf dJ$ ocrdo}:g t 12,000, o3:odgedddea dnoao^lood*erd

1{,131,900, d%d *nde^laoaed enqS t 54,000. oe{ errtUrecbd erd:aadddl
dod:&Do1:o.

a) zrrq $dneo b) d; erd>aad

c) dnoao; eiae$ ed:a-ad d) ?"uD* enqi ud,laad
e) e{9 rooora3dd f) &d$ engJ ud.:aad 

l

g) saeld.aflu3 e$aad h) dOaad erd:aod

i) xa$:ra srdrmd


